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g 3 E
FIAEGEES 2017412 H20H
= Ak o ABEUVER %

PR 10 36, 000 36x 10

F— 172 619, 200 36x172

F= 44 158, 400 36x 44

— 9 32,400 36x 9

= 29 104, 400 36x 29

BO 6 21, 600 36x 6

EO— 13 46, 800 36x 13

EOZ 6 21, 600 36x 6

BFEO— 6 21,600 36x 6

£ 1 25, 200 36x 7

2= 22 19, 200 36x 22

2= 21 97, 200 36x 217

B— 99 356, 400 36x 99

B 26 93, 600 36x 26

B= 38 136, 800 36x 38
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3 [E
HEFARBRES 20175128208
= 1 o B AMEUE SR i

BE— 5 18,000  36x 5

BE_ 1 3, 600 36x 1

BO— 69 248, 400 36x 69

BO= 36 129, 600 36x 36

.< O% 44 158, 400 36x 44

<O— 53 190, 800 36x 53

<O= 9 32,400 36x 9

Ofs 46 165, 600 36x 46

O— 296 | 1,065, 600 36x296

o= 311} 1,119, 600 36x311

o= 141 507, 600 36x141

YNOLE 13 46, 800 36x 13

RKO— 85 306, 000 36x 85

KOZ 41 147, 600 36x 41

F— 39 140, 400 36x 39
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FEEERRMES 20174E12 5208
% 1 FaH B ABRUEH =

F= 20 72,000 36x 20

A — 24 86, 400 36x 24

= 7 25, 200 36x 7

KA — 2 7,200 36x 2

v = 1 3, 600 36x 1

A F— 5 18, 000 36x 5

v F = 4 14, 400 36x 4

YF= 1 3, 600 36x 1

c— 38 136, 800 36x 38

c= 171 615, 600 36x171

C= 15 54, 000 36x 15

cO— 12 43, 200 36x 12

cO=— 54 194, 400 36x 54

CO= 51 183, 600 36x 51

Bl — 79 284, 400 36x 79
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FEREGRES 2017412 20H
%= F Bo# ABRUEHR W %
Al — 52 187, 200 36x 52
Al < - 21 15, 600 36x 21
A<= 18 64, 800 36x 18
AMO= 28 100, 800 36x 28
AMO= 5 18, 000 36x 5
= 2,311 8,319,600 K#(2,311)
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